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Event #1137 - occurred on 2022/01/02 at 10:57:57 - ML:4.1 - RHYP:117.1 km - PGACKO:Z.O cm/s?
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Event #1138 - occurred on 2022/01/07 at 12:27:31 - ML=2.9 - RHYP=33.4 km - PGACKO=1.2 cm/s?
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Event #1139 - occurred on 2022/01/12 at 11:15:51 - ML=2.8 - RHYP=29.2 km - PGACKO=2.5 cm/s?
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Event #1140 - max reccorded on 2022/01/25 at 02:48:30 - no association with catalogue - PGACK0:3.4 cm/s?
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Event #1141 - occurred on 2022/01/28 at 14:54:33 - ML=2.5 - RHYP=3O.1 km - PGACKO=2.8 cm/s?
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Event #1142 - occurred on 2022/02/11 at 18:23:39 - ML=2.2 - RHYP=15.7 km - PGACKO=4.5 cm/s?
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.19 _ _ _ 2
- occurred on 2022/02/15 at 16:12:53 - ML—3.2 - RHYP—Zl.l km - PGACKO—8.4 cm/s

Event #1143
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Event #1144 - occurred on 2022/02/17 at 01:48:46 - ML=4.4 - RHYP=82.2 km - PGACKO=2.4 cm/s?
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Event #1145 - occurred on 2022/02/18 at 13:58:36 - ML:4 - RHYP:99.7 km - PGACK0:2'0 cm/s?
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CK40

Event #1146 - occurred on 2022/02/19 at 16:48:08 - ML=2.8 - RHYP=17.4 km - PGACKO=8.8 cm/s?
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Event #1147 - occurred on 2022/02/19 at 22:47:38 - ML=1.9 - RHYP=15.6 km - PGACKozl.O cm/s?
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occurred on 2022/02/19 at 22:49:13 - ML—1.9 - RHYP—17.3 km - PGACKO—l.O cm/s
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Event #1149 - max reccorded on 2022/02/27 at 16:49:00 - no association with catalogue - PGACK0:1.6 cm/s?

02 Z [cm/s?] ASD [ (cm/s2)/Hz1? ]
’ 102
z
E
109) N
102 -
47
> = === /
10
0.4 : : : : : . .
102
0.2
0
o 10
0.2
DAY
2 N
10 <7 NN
0.4 —
06 . . . . . 10
0.3 : : : : : . .
102
0.2
0.1 109
0
0.1 -2 N
10 <
SRS
— ~
0.2
03 . . . . . 104 . .
0.3 - : . . .
10?
0.2
0.1 109
0
0.1 102
~c
S e N e
0.2
03 . . . . . 104 . .
0.2
102
0.1
109)
0
1072
0.1
S I = e P
0.2 10
0.3
102
0.2
0.1 100
0
0.1 102
Z
02 i R
0.3 104
0 50 100 150 200 250 10! 100 10t
Time [s] Frequency [Hz]

SIN
104
7 .
109 ?ﬁ e
10*
- ﬂ@@_\
r? AN
10° A/
104
1 M&\
Y- AN
10° W -
104
) AN\
! M
r7 N\
10°) 7</ N\
104
103 /’ﬁ \.\
7~ \
10° j(/ N
104
102 p/(/
0@( A\Y
10°
10t 10° 10t 102

Frequency [Hz]



CKWP

CKO

CK6

CK15

CK40

CK83

Event #1150 - occurred on 2022/02/28 at 07:13:20 - ML=2.3 - RHYP=17.4 km - PGACKO=4.6 cm/s?
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Event #1151 - occurred on 2022/03/02 at 01:20:17 - ML=2.2 - RHYP=15.1 km - PGACKO=3.4 cm/s?
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Event #1152 - occurred on 2022/03/03 at 10:31:05 - ML=2.2 - RHYP=19.1 km - PGACKO=2.6 cm/s?
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Event #1153 - occurred on 2022/03/13 at 16:50:32 - ML=2.6 - RHYP=16.1 km - PGACKO=4.1 cm/s?
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Event #1154 - occurred on 2022/03/15 at 20:36:51 - ML:2 - RHYP:25.8 km - PGACK0:1'2 cm/s?
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Event #1155 - occurred on 2022/03/24 at 19:00:05 - ML=2.1 - RHYP=23.2 km - PGACKO=1.8 cm/s?
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Event #1156 - occurred on 2022/04/07 at 17:40:29 - ML=2.4 - RHYP=20.8 km - PGACKO=1.8 cm/s?
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Event #1157 - occurred on 2022/04/08 at 10:06:07 - ML:3 - RHYP:39.2 km - PGACK0:1.3 cm/s?
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Event #1158 - max reccorded on 2022/04/09 at 09:46:50 - no association with catalogue - PGACK0:1.4 cm/s?
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Event #1159 - occurred on 2022/04/09 at 15:10:45 - ML:4 - RHYP:69.5 km - PGACK0:2'9 cm/s?
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Event #1160 - occurred on 2022/04/09 at 15:13:20 - ML=3.9 - RHYP=7O.1 km - PGACKO=3.4 cm/s?
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Event #1161 - occurred on 2022/04/11 at 18:53:51 - ML=3.8 - RHYP=51.2 km - PGACKO=2.4 cm/s?
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Event #1162 - occurred on 2022/04/21 at 09:26:49 - ML=2.2 - RHYP=18.2 km - PGACKO=4.5 cm/s?
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Event #1163 - max reccorded on 2022/04/21 at 09:29:10 - no association with catalogue - PGACK0:1.4 cm/s?
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Event #1164 - occurred on 2022/04/27 at 01:51:53 - ML:5.2 - RHYP:324.1 km - PGACK0:1'4 cm/s?
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Event #1165

A7 _ _ _ 2
- occurred on 2022/04/27 at 19:47:17 - ML—3.4 - RHYP—43.0 km - PGACKO—2.6 cm/s
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Event #1166 - occurred on 2022/05/02 at 17:00:54 - ML:2 - RHYP:16.O km - PGACK0:2'4 cm/s?
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Event #1167 - occurred on 2022/05/08 at 18:54:57 - ML=2.6 - RHYP=20.3 km - PGACKO=2.8 cm/s?
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.01- _ _ _ 2
occurred on 2022/05/08 at 19:01:34 - ML—2.8 - RHYP—ZO.S km - PGACKO—4.7 cm/s

Time [s]

Event #1168 -
s Z [cm/s?] ASD [ (cm/s2)/Hz1? ]
’ - 102
1 noise z
signal E
05 100 N
0
05 102 ﬁ‘\*" ~
-1 N L 4
15 10
15 : . . . . . .
102
1
05
109)
0
0.5
4 1072
1.5
2 . . . . . 104
1 T T T T T T T
102
05
0
o 10
0.5
2 —.<
10 e
1 / —~— r
&=
15 . . . . . 104 . .
1 . . . . .
10?
0.5
10°
0
1072
0.5
4 . . . . . 104
1
102
05
109)
0
1072
A —
a:\>ﬁ%%/
g
0.5
10
1
102
0.5
109)
0
1072
2 /<
e —
0.5
104
0 50 100 150 200 250 101 10° 10t 102

Frequency [Hz]

SIN

104
10? iﬂ,\

N
10° \
10*

2 m
10 >/\, W
)
10°
104
~7IA
10 yl—\/ v\

2\
10°) N\
104
109 &
104
10? ﬂm\¥
10° \
104
ﬂﬁm \

A\
109) \
107 10° 10t 102

Frequency [Hz]



CKO

CK6

CK15

CK40

CK83

CKWP

0.2

-0.3

0.6

0.4

0.2

-0.2

-0.4

-0.6

Event #1169 - occurred on 2022/05/11 at 09:41:23 - ML=2.9 - RHYP=41.1 km - PGACKO=2.1 cm/s?
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Event #1170 - max reccorded on 2022/05/12 at 09:48:30 - no association with catalogue - PGACK0:0'7 cm/s?
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Event #1171 - occurred on 2022/05/22 at 20:42:48 - ML=3.1 - RHYP=4O.3 km - PGACKO=1.9 cm/s?
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Event #1172 - occurred on 2022/05/23 at 07:42:47 - ML=3.2 - RHYP=41.0 km - PGACKO=1.8 cm/s?
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Event #1173 -

AA- _ _ _ 2
occurred on 2022/05/24 at 16:44:06 - ML—2.3 - RHYP—19.8 km - PGACKO—Z.Q cm/s
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Event #1174 - occurred on 2022/05/24 at 17:14:50 - ML:3.3 - RHYP:23.3 km - PGACK0:19.7 cm/s?
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Event #1175 - occurred on 2022/05/25 at 13:16:28 - ML:3.1 - RHYP:16.8 km - PGACK0:13.7 cm/s?
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Event #1176 - occurred on 2022/05/26 at 17:16:29 - ML=2.6 - RHYP=18.3 km - PGACKO=3.2 cm/s?
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Event #1177 - occurred on 2022/05/27 at 05:51:18 - ML=2.1 - RHYP=23.7 km - PGACKO=3.1 cm/s?
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Event #1178 - occurred on 2022/06/05 at 19:12:37 - ML=2.2 - RHYP=17.2 km - PGACKO=3.3 cm/s?
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Event #1179 - occurred on 2022/06/09 at 10:42:23 - ML=2.1 - RHYP=19.3 km - PGACKozl.O cm/s?
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Event #1180 - occurred on 2022/06/17 at 05:11:15 - ML=2.2 - RHYP=19.3 km - PGACKO=4.3 cm/s?
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Event #1181 - occurred on 2022/06/22 at 00:22:42 - ML=2.4 - RHYP=19.5 km - PGACKO=6.4 cm/s?
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Event #1182 - occurred on 2022/06/24 at 04:42:10 - ML:3 - RHYP=26.4 km - PGACKO=16.1 cm/s?
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Event #1183 - occurred on 2022/06/27 at 07:00:56 - ML=2.5 - RHYP=18.5 km - PGACKO=7.5 cm/s?
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Event #1184 - occurred on 2022/06/29 at 22:58:27 - ML:2 - RHYP:ZZ.S km - PGACKozl.l cm/s?
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Event #1185 - occurred on 2022/07/10 at 04:42:01 - ML=2.8 - RHYP=42.2 km - PGACKO=1.9 cm/s?
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Event #1186 - occurred on 2022/07/13 at 19:21:41 - ML=2.3 - RHYP=19.1 km - PGACKO=2.1 cm/s?
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Event #1187 - occurred on 2022/07/14 at 00:54:47 - ML=2.7 - RHYP=16.3 km - PGACKO=7.4 cm/s?
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Event #1188 -
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Event #1189 - occurred on 2022/07/16 at 02:41:19 - ML=2.7 - RHYP=22.0 km - PGACKO=4.4 cm/s?
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Event #1190 - occurred on 2022/07/20 at 05:18:48 - ML:2.9 - RHYP:20.3 km - PGACK0:13.7 cm/s?
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Event #1191 - occurred on 2022/07/20 at 05:23:46 - ML:2 - RHYP:13.9 km - PGACK0:2'2 cm/s?
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Event #1192 - occurred on 2022/07/26 at 05:15:04 - ML=2.5 - RHYP=20.1 km - PGACKO=2.6 cm/s?
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Event #1193 - max reccorded on 2022/08/04 at 23:17:40 - no association with catalogue - PGACK0:4.1 cm/s?
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Event #1194 - occurred on 2022/08/12 at 21:31:50 - ML:5.4 - RHYP:524.7 km - PGACK0:2'2 cm/s?
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Event #1195 - occurred on 2022/08/14 at 10:47:57 - ML:4 - RHYP:51.O km - PGACK0:3.8 cm/s?
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Event #1197 - occurred on 2022/08/29 at 23:52:13 - ML=2.5 - RHYP=24.5 km - PGACKO=4.2 cm/s?
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Event #1198 - occurred on 2022/08/30 at 00:26:06 - ML=2.8 - RHYP=35.3 km - PGACKO=1.7 cm/s?
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- occurred on 2022/08/30 at 03:49:35 - ML—4.3 - RHYP—50.4 km - PGACKO—B.S cm/s
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Event #1200 - occurred on 2022/09/08 at 07:36:20 - ML:5.4 - RHYP:62.8 km - PGACK0:31.7 cm/s?
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Event #1201 - occurred on 2022/09/08 at 08:00:39 - ML=3.7 - RHYP=49.4 km - PGACKO=5.2 cm/s?
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Event #1202 - occurred on 2022/09/12 at 08:57:05 - ML=2.4 - RHYP=29.5 km - PGACKO=1.2 cm/s?
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Event #1203 - occurred on 2022/09/16 at 12:58:09 - ML:4.1 - RHYP:109.2 km - PGACK0:2'5 cm/s?
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Event #1204 - occurred on 2022/09/17 at 14:41:23 - ML=2.7 - RHYP=26.4 km - PGACKozl.l cm/s?
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Event #1205 - occurred on 2022/09/24 at 21:58:37 - ML:2 - RHYP:17.4 km - PGACK0:3.6 cm/s?
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Event #1206 - occurred on 2022/10/05 at 17:39:20 - ML:3.5 - RHYP:12.3 km - PGACK0:31.6 cm/s?
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Event #1207 - occurred on 2022/10/07 at 12:35:32 - ML:2.8 - RHYP:21.2 km - PGACK0:12.4 cm/s?
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Event #1208 - occurred on 2022/10/13 at 18:29:24 - ML=1.8 - RHYP=17.4 km - PGACKO=1.4 cm/s?
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Event #1209 - occurred on 2022/10/21 at 04:22:46 - ML:3.4 - RHYP:15.5 km - PGACK0:25.9 cm/s?
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Event #1210 - occurred on 2022/10/21 at 06:21:12 - ML:3.2 - RHYP:20.5 km - PGACK0:28.4 cm/s?
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Event #1211 - occurred on 2022/10/21 at 08:45:15 - ML=2.3 - RHYP=20.4 km - PGACKO=3.9 cm/s?
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a0 _ _ _ 2
occurred on 2022/10/23 at 08:30:35 - ML—2.8 - RHYP—24.3 km - PGACKO—7.1 cm/s
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Event #1213 - occurred on 2022/10/23 at 09:45:48 - ML=2.3 - RHYP=23.3 km - PGACKO=3.7 cm/s?
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Event #1214 -

.20- _ _ _ 2
occurred on 2022/10/23 at 16:59:26 - ML—2.7 - RHYP—22.3 km - PGACKO—4.3 cm/s
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Event #1215 - occurred on 2022/10/26 at 07:58:12 - ML=2.1 - RHYP=20.1 km - PGACKO=1.7 cm/s?
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Event #1216 -

.na- _ _ _ 2
occurred on 2022/10/26 at 17:03:39 - ML—1.6 - RHYP—14.7 km - PGACKO—l.O cm/s
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Event #1217 - occurred on 2022/10/28 at 09:03:29 - ML=2.5 - RHYP=18.5 km - PGACKO=4.0 cm/s?
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Event #1218

.ag- _ _ _ 2
- occurred on 2022/10/30 at 15:34:44 - ML—3.2 - RHYP—26.2 km - PGACKO—7.9 cm/s
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